REreER® (BF)

FE32EFERPFERE LHRGEREMBAR I FERLHEBS FERNhERAEER
FR23%E6H4H(L).58(R) £a—K 11123301
B fetETIES AN ERE 3RS BEHEI—F 122010
IE £z 5
B B EN fE Bl EEN ¢ 50 8% K % ’{ L 8% K & ’LE 50 8% K % & i &’ K % f-E 50 8% K % fE Bl K % ’LE 50 8%
i = i i il i i il
5 14100m TS 12.69 A BE 1 12.73 o B 1 13.17 5= EFA 1 13.38 13.41 BRI 13.50 H FH1 13.53 ol T2 1 13.56
B (=12) 1)1 (<0.7) i} (-3.5) Ml (=2.1) 7 - (-1.9) REBXBR (=1.5) P 1.7 YEiT (-1.4)
24£100m it A 2 12.18 KB RBA2 12.21 HHE B 2 12.27 T ?Egr 2 12.40 MM .,nszm 2 12.42 B s 2 12.50 YRE Eth 2 12,53 TEE2AN2 12.53
4 ] (-0.3) yh e (-1.5) T (=1.4) (2.1) oy (-2.2) o A (-0.3) isLic (34) | FBXHZ | (-03)
34100m Ef3 11.77 Bk B 3 11.79 AR 3 11.79 12.02 B3 12.15 E 8] B 3 12.20 WO x 3 1221 | £H=E—3 | 1223
¥2iT (=2.3) rEJ 1175 (-1.9) =H (=3.0) (-4.0) Eo 3 (-1.5) ot (=2.1) X (=2.2) (-2.3)
5 HE500m KRR 5hEE3 | 2330 AR EAR3 | 2365 ENEE 24.01 24.09 E i3 24.22 H:E 1*5!:; 3 | 2423 B BA3 | 2424 | kAN B3 | 2428
T RBAER | (-12) Bl (-1.8) BIRT (0.7 (-2.9) YT (-2.6) o 1] (-2.1) &M (-2.6) AFER (-2.3)
4 8 400m FER &EfC3 | 5281 WA ZX3 | 5288 RR 5hEF 3 | 5368 53.86 78 B3 54.35 CaESi 1% 55.03 HE B3 | 5522 FESh B 3 55.36
T iy - =T L PN E £# ﬁ'ré‘: iz AR
5 H#3E300m E7 &t 3 | 2.05.09 /ML %S 3 1 2.08.94 Bt 4,“ 3 | 2.09.01 [ 2.09.26 J\AR 3XC#% 3 | 2.11.40 hngk HEX 2 1 21175 WhiE BEA 2 | 2.11.89 fiE &3 | 2.11.99
i o i7H B EhE= 7H —= X
141500m INE B 1] 43401 ThAk 3hdh 1] 4.44.34 fE fﬁﬁjm | 44467 | 449385 BT f67 1 | 45047 AR EANT | 45519 fi+E BT 145588 ER BT 1 | 45866
4 . L i,ﬁx,ﬁy s Qg - ‘ B ; sy o R TRt
#381500m HE Bk 3 | 4.20.25 THEI3 | 42230 FHF {54 3 | 4.24.38 [ 42490 FF FIAN 2 | 4.26.39 NG EABR 20 42708 | @R ABR 3 4.27.96
- 1HE sy &R SR _ At At EH
5|  #®3000m JB A3 | 90859 HE m3 | 9.2302 752 A3 92355 1 9.39.68 BEFMA2] 94075 | /MNE B 2 94113 | =M E{h% 3 9.41.38 [R5 BB 3 | 94218
- =18 EEHE HefhF #dt Bl e DRk s
4| £E110mH ERAR MR 3] 1596 | HO E—BI3 | 16.35 ER R 3 17.31 17.49 O X103 17.49 EMm3 1762 | B A3 | 1780 XE -3 17.85
T AER (=3.1) BT (-2.4) = (-2.4) (-2.4) EEH= (-3.4) ¥ (-3.0) E = (=3.1) o & (-2.4)
Ehot = =M HEXBR ﬁ’r*@i W EE BEHA =T
H:2 E% 3 BIR 8 3 #E F9R 3 H EX 3 %0 AKX 3 AR ZH 3 N AN 3 i th 2
5| #@4x100mR | [EF &# 3 | 4516 MAa iR 3 4553 BE % 3 | 4587 AR #F 3 45.91 KEBAN 2 | 4612 =% F— 3 46.37 AR K 3 | 4647 BERHE 3 46.49
NI EE 2 Lk fii— 3 FER B 3 HAH 3Fth 3 #AH HFE 3 o X 3 LK A 3 B0a #iE 3
£ E 3 FHiF X 3 KRR Bhist 3 HIE EARR 3 [l EA 3 EX E#8% 3 IiE & 2 A ZEKX 3
5 HIBES BEM#L 3] 180 EE&23] 173 FHE ABF3 170 [3 EE AH3I | 170 B BB 3 | 165 = k3 | 165 BREE 5 3 1.60 EE 18173 | 160
TEEE t# AER ZI T =N BIR HHE /\7:75\&
4 HEES HHEHAEEI ] 270 R FEL 3| 260 Al B3 | 260 |
e YT pty ity
4 1 iR HIE B 1 | 4.66 BRE A 1] 460 IO E/E1 0 453 Bl =11 450 2 MA 11 450 AT B 11 449 Bl 1] 446 EEEH 1 436
= 2z +1.7 T +4.0 i G +3.2 A +0.1 E‘i%’l +1.9 INE +1.7 o - +4.4 [ +20
5 3 EIEBE WA JEX 3 630 FEF3 5.90 FAHAMFEI ! 588 TIHIBEA3 ] 588 28 B 5.87 BARMKI 565 EOE fith 2 5.65 #HIZKE3 | 556
- = B — +1.3 =218 +2.6 ) L +2.0 RiIIR +1.5 E',L\Er_ +4.3 =A +1.8 AR F1F Bk +2.6 = +1.6
4 BRI IE WA $Rth 3 | 1015 B MEE 3 1012 HQO &% 3] 1007 A EA 2| 948 FO£3 9.38 R BBt 3 | 868 A A—3 | 858 f2H #l% 3 | 856
i > L] e N B LI REE = it e
PRI IR 3 | 2246 INFR FFPE 3 [ 2031 = [ 1995 ZEE3 | 1983 BiE {73 1916 BxR —182 | 1852 THES3 | 1740 AR Rt 3] 1671
4 BRI BT RN ; EEEH— NCSAES fiate N 5 Lo
5 DUIE S 17.67(=2.7) 556 17.29(-1.3) 594 1866(-2.7) 463 17.96(-0.6) 528 17.65(=2.7) 558 17.74(-0.6) 549 17.55(-0.6) 568 20.06(-1.3) 344
9.80 474 11.30 564 11.98 605 8.23 380 9.19 437 7.88 359 7.04 310 8.05 369
1.80 627 1.45 352 1.56 434 1.68 528 1.59 457 1.65 504 1.40 317 1.56 434
55.24 589 57.00 521 57.75 493 56.31 547 58.55 464 59.21 440 56.38 545 56.93 524
BHE fit 5 B X REREE EH R =
48 58
%I xR Fom JE [ JERE mE B % xR Fom JE ] JERE mE
9:30 5 25.0°C = 2.0m/s 57% 9:30 5 26.0°C = 2.2m/s 57%
10:00 ] 25.0°C il 3.3m/s 57% 10:00 [ 26.5°C EED 2.0m/s 58%
11:00 5 25.0°C = 3.0m/s 57% 11:00 5 27.0°C = 2.6m/s 56%
12:00 ] 25.0°C il 2.8m/s 54% 12:00 [ 26.5°C 53] 3.0m/s 58%
13:00 5 25.0°C [ 2.4m/s 54% 13:00 £ 25.0°C o 2.3m/s 65%
14:00 ] 25.0°C Eal] 3.6m/s 54% 14:00 = 25.0°C FAE P 1.4m/s 68%
15:00 5 25.0°C = 3.0m/s 54% 15:00 £ 24.0°C [ 2.3m/s 71%
16:04 B 24.5°C [t 3.2m/s 54% 16:00 E 23.5°C 5 3.5m/s 75%
16:40 = 22.5°C etk 4.0m/s 82%




EI2EFERPERE LBREHRSMBRAR

REFLERR (L)

T FEELBERBR. FTERNFRAETER
TR23F6H4H(X).58(8) =a—Fk 11123301
g farETESN A ERE RS RSO —K 122010
g fi 1 _ S
B B K & & &% K £ ’{ 52 % A K £ ’#j 52 % K &% & i &% K % ’?{ a2 % K % fzﬁ, 2 5% EER
B A& F B S i i1
5 14100m ZH TE8 1 1394 |1 REBREX 1] 1394 Al B 1 14.13 P Ex 1 1419 | FHE#F1 | 1453 BE 20 | 1456 | KFOA EA 1 | 1459 BH B 1 14.68
AFR (=2.5) 17H -1.7) AR LLL i 1.7 AFR -1.7) Ehﬁt? (-26) | FBABER | (-20) Tk 5 (-1.6) = .
24100m WA FiC 2 13.27 EXER W 1337 | WA #91F2 | 1350 A ThiE 2 13.58 Ay 2 T 1364 LNES =Y 13.81 m 4%2 13.86 _
4 Al (=2.3) 1TH (=2.2) YT (=2.0) mi= (=3.6) =H (-1.3) LU (=1.3) (=28 .
34100m BxE3 12.96 BHE 3 1319 [ 2 ZIEF3 T 1319 EVIEESE 1333 | /MNEF Ak 3 | 13.38 SHE=E3 13.40 %a@m3 13.65 .
Bl (-1.2) EihF (-2.3) 1TH (-1.1) =H (=2.1) b G~ e (=2.1) Z U (-1.3) BEH— 1.1 .
5 #38200m ASHEE F 3 | 2686 =M BiZz=3 | 2726 REBEXR3 | 2751 |3 ENIIExE3 2751 RA EHHL2 | 2764 BEEBE3 | 2774 LmnﬂE3 27.89 .
- FthF (=2.0) =[] (-1.7) 1TH (-2.0) =H (-1.0) A (+0.1) E (=2.0) BEEN (=2.2) .
4 #3800m Bz& BE 3] 21937 BHAES 3] 22193 18E HE 3] 22259 [RE #4% 3 | 22445 £E LHAH 3] 22585 ARJE K= 3 | 2.27.26 el & 3 | 2.27.42 mﬁgg 2.27.49
- BT BT 1 EREXT #A4t HiE 1TH EEfa
#381500m E WE 2| 45860 EM M= 2 | 50053 EH0 851E 2 | 5.00.81 /INPE EE 1] 50175 I #9(F 2] 50253 f+E X&F 2 50347 hE %3 | 50367 BE ¥Th2 ] 50594
- BhEre s =18 =[] =18 i e et Lidlll
#38100mH Iﬁé‘s%*—r%s 15.39 R 8K 3 15.50 X5 ek 3 1586 | /MHIE EX 3 | 16.31 AHEmBE2 | 1655 | FMF@HFL3 0 1676 | A FZE3I - 16.90 EREF3 | 1709
- =] (=2.9) AFR (=2.8) bz Lk -l =17 A (-1.2) ot (-2.0) A -16) | ER&&ZF | (-15) EFE&X (=1.9)
Bl f7H =l ¥ET Sy BEARR _ EEHR =
HE EMR 3 R+ 8l 2 Sis g% 2 IWH #7(F 2 =k 3 ERKET 3 B EF 2 BHER 24 2
5| ##E4x100mR | T #imlF 3 51.00 RIE #XK 2 51.39 RN FiL 2 5166 | M= MBE 3 5224 | HO &4OHN 3 5232 | KFEHAR 3| 5289 P T 2 53.39 EHH 3 53.79
=M #i%E 3 &#@ﬁs Wk AL 3 & EX 3 N £ % 3 FEH EZM 2 XH BE 2
BE E 3 £IB ¥ SHEXE 3 SM %A 3 X #K 3 HY HE 3 RE FHE 2 )l & 3
&= Bk FKFEE?2 | 160 E&%%%z 1.48 A% =3 1.45 INFEIEfE2 | 145 HPE AF31 145 W A#hA 31 1.40 jngh BEfE 3] 1.40 AR EmE3l 140
s +H# EaBh £ 1L EEGh =] fTH NKBR AR
BES EREE2 ] 280 BH —%T 2 250 ERM&EE3 ] 230 P OHD 3] 2.20 AR FRin 3 | 2.00 g ; |
e Bl s ERaX+ ,ﬁff$ it i3 1
4 1 ISR EE UMY 1 433 FIER RRF 1 422 = tx 4.18 FTE1 4.14 IWF [EE 1] 410 4.08 EF LB 1 405 M- BIET ] 403
= s RN +1.8 H iRt +4.3 Eiii +1.8 BT +2.5 : DR +3.0 +2.6 Zil +24 SiRE +3.0
HEENERE INGCEEEREIEEE W3 | 484 BEHEE2] 479 Wz XFE3 478 AN XEFF2 469 468 WWHE #9(F 2 467 EHER3 466
N s B &= 1.4 21 +1.4 TEH= +2.1 TEH— +1.9 B0 +14 +1.8 T +20 a1l +1.3
BRI [ EH fRf% 3 | 10.63 HE BEFE 3 1028 H F@3 | 1018 =EdY2 | 985 HEBE3 | 966 9.20 AEEF 2| 840 AP 52 3 8.22
e =[] : Z2) =] : o YT i B L1 1
FE thE 3 1998 EHF tiE2 ] 1936 EMEAM3 | 1836 JRH FE 3 | 1757 BN MAK2 ] 1738 HO #kE 2 [ 1703 B X 3] 1616 =fE & 3 1597
A ot g s it N AfR f7H fiate
4 B 17.03(-2.2) 593 16.67(-1.9) 634 17.86(-2.2) 503 18.99(-2.2) 391 18.18(-1.4) 470 18.02(-1.9) 486 18.86(-2.2) 403 19.24(-1.9) 368
5 1.29 399 1.29 399 1.29 399 1.29 399 1.32 429 1.35 460 1.41 523 1.23 340
9.41 491 7.26 352 7.98 398 8.45 428 7.04 338 6.31 291 6.29 290 8.68 443
29.53(=2.1) 515 29.05(-2.1) 551 29.25(-2.1) 536 29.21(=0.6) 539 29.73(=2.1) 501 30.23(-2.1) 466 31.23(-0.6) 400 30.52(-0.6) 446
BHR ft 15 B X T 2H &=




